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Section : Mathematical Abilities

Q1 Y Y A 3R B A HHRT: #1,50,000 3R 22,50,000 T I3 B3 T aATd = fHATI T U=t 3ma o1 3ruA a1 & wue
3uTd ® faafva &1 & g Tgud §U1 v ad & q1g, 3ifSfd @y 26,00,000 AUTI 3779 & YA = 30+ Jafea a1y § 250,000
Sre®R TP et uiareT ® fawr far) afe s aRaierr 9 24,20,000 3t 3ma g3 <ft, oY arivfa @y & A &1 fev=ar fpamm ghme

Ans X 1.%1,84,000
o 2.%1,65,000
X 3.%1,97,000
X 4.%2,35,000

Q.2 72 72,800 W 10% P qTffeh o3 A 3 quT A YT ATLUTRUT TS Zx & 3N 26,200 R 14% Pt T A y TUI H UG HILRUT TS 21,736
2, dt xly &1 A T g2

Ans X 1.140
& 2.420
x 3.550
X 4.380

Q3 A 3R B fa®s? U F1d & 12.5 o= # 1 % THa §; B 3R ¢ frass 3wt &1d Y 18.75 a7 & [T 67 Woha §, Safdp € 3R A
fras~ 33t ol Y 15 = & 1 % TP €1 D B 1Y A §U, S ¢ B ga@ | Had 40% PG 8, A, B 3R ¢ s 3¢t st
3! fora fo=1 & qr1 & ungAe?

Ans X1- Ql
3
x2 X
27
7
o 3. 9;

2
K4 95

O T TET F AT T, 10 m = RS F o T 3EaaT F0T 60° ¥
ofE zrex Ak s & @9 Hr g 503 m &, aF 37 TR Fr FE
AT HITT|

Ans o 1.160m

X 2.140m
X 3.150m
X 4.100m

Q.5

Ay A= 222 B= 2y A - D a A e

-3z72 ! - 152

Ans o 1.1
< 2.1
< 3.0

90
X 4.2 ixam
rep ter




Q.6 25,46 3R 'y FT A 11 31 'y’ BT T T §? ixam‘“é
Ans o 1.-38 -Prepare 50% Faster
X 2.-37
X 3.-36
X 4.-34

Q7 i fpeft o 5t oo faeTs gt 30 km/h Tt A16 | SR AW & 40 km/h Tt TTE | T BT 31 AT I/ I G HA H pA 12
He @, O AT Bt o g4 (km ) fra-it A

Ans 1. 445
X 2.412
o 3.432
X 4.450

Q.8 The average weight of the first thirteen persons among fourteen persons is 78 kg. The weight of the 14th person is 39 kg
more than the average weight of all the fourteen persons. Find the weight of the 14th person.

Ans X 1.118kg
& 2. 120 kg
< 3.110 kg
25 4.98 kg

Q9 A, B 3R C @ 3N 3mg 20 af 31 &Y 9 UG A 3R B B} 3G FT AT C B Y A 6 3ifUP 4TI ¢ F Fedur= Mg F1a FIMC
Ans g1 2679

X 2.29T¢
X 3.25T¢
X 4.28T¢

Q.10

x () -2}« o mmm

Ans
s =

X2 —
1
3. —
x 27
1

X4 =

36

QM TH ATURY AU AT BT fasha G, 59 Teu o 42% 3w 3ifha wwar 81 a8 9= 71 Sifdhd Teu W 15% Fe P 9adi 3|
IqT A1y ufasra (Feeaw quiie a quiifed) feaar g2

Ans X 1.27%
X 2.42%
X 3.35%
o 4.21%

. V23
|xam'0

~Prepare 50% Faster




11
12 150 m e T TSk F Al HT TAT SuTE Ao @ W oy §T §1 5 @t & drevam S
wEF & v fig @ T F semaa For X0 AR y° 50 9w E R canx = 2, tany’ =g
A T T & S A
Ans X 1.42m
o 2.36m
25 3.39m

25 4.33m

Q13 Y urdh | U FAifa Twg uR a3l 3R HIHa Smige! & R @)\ ok WY Y wen 3t it &Y 7 ok a5 uran man % 54
7 3R 148 WX A1 UTh & §R) B T&=T FId DI

Ans w 1.20
X 2.16
X 3.14
X 4.18

Q.14 woowzmmﬁaﬁmmu,w ?1 afe awafs srdarfife wu @ &t w$ &, ) gaus fam auf & forg fa=r
™?

Ans X 1.4
X 26
3.2
X 4.3

Q.15 2 ¥Ry 3R 3 U9 B P 255 § aUT 7 TR 3R 2 U9 Ft BAd 265 71 TH U 3R T URa &t a siwa (2 ) fra-it 22
Ans X 1.25

X 2.15

o 3.20

X 4.12

Q.16 The marks obtained by 15 students out of a maximum of 25 in a test are given as 13, 11, 16, 15, 18, 12, 13, 14, 10, 22, 15, 21,
20, 17 and 24. Find the product of the modes of this set of data.

Ans X 1.192

X 2.182

X 3.210
o 4.195

Q.17  gfg g9 Bt TP Sftar 20.5 cm & TE 7, A g9 A B (r)
Ans £ 1.r=10cm

g TfRel

 2.r210.25
X 3.r>1025
X 4.r<10.25

1w T FH | ZEAB + 3£AEB & A :
Q18 wreTg s ABC U @9 BCDE & > fa & T grm?

Ans &0 1.280°
X 2.240°
 3.60°
& 4.80°

00




Q19 FRP:Q=3:43RQ:R=4:78 @ (P+Q):(Q+R): (R+P)PIHM Jd PICI

Ans K1 1:4:7 'x?::sso%,m
& 2.7:11:10
K3.3:4:7
X 4.10:3: 11

Q.20 EI.I:(:P(AuB:]Zgl p(jUE)=§, P(A]:% %,a‘r’aﬂﬂﬁ?ﬂl?l@

HARTUTA J1d DI
38

X 1.

Ans
17
29
25
xs T
57
47
7

& 2.

x 4

Q21 TP HeR A # fRufve o urit &1 80 wftex fgor, 7: 9 & arqura A 81 39 ot &7 20 efter, g HeR B & wiAiafa & fear
SraT 21 fOpR =R A 20 Htex Ul wRT i 1 bR 39 fyyor 31 32 Wfiey, daRT SR B H RIMiAd B fur oI 81 e’
B & firgror &, urit ok fRufe &1 srqura 31a i

Ans X 1.87:41
X 2.41:87
& 3.131:77
X 4.77 131

Q.22 B ¥ U® U fathar & 2180 Ufd kg Pt G 15 kg VT WIS, Sl TP kg IoI1 & AT 950 g & ol BT IUGRT HRaT g1 B A 57 9t
Tl P 2180 UfA kg B G T T, AT TP kg T9H & T 750 g F a9 BT IUENT T 39 A4-39 A B gR1 3iffa e uferra
@ ST VI 9% Yeg) T BT

Ans X 1.33.33%

o 2.26.67%
X 3.22.55%
X 4.25.75%

Q.23 Three cards are drawn one after another with replacement from a pack of cards. What is the probability of getting first card a
Jack, second card a black card, and third card an even numbered card?
Ans
1. —
v 338

25
2. ==
X r

. 2
X3 169

20

4. =7
X 338
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Q.24 wﬁqawuaﬁm,iﬁsﬁaﬁ?mmﬂms:s:zﬁmﬂm%lEWWHWWWWWOOWZW‘TMM‘%
39 YHTH T 3T (cm® H) F1d ST

Ans «" 1.4500

X 2.4650
X 3.4200
X 4.4800

Q.25 U®H SR °H, ik TS HR B @S 48 cm 7, B Rraeman wirar 21 59 fraat gu w91 A o fadt srverg & uep aum 3 O,
o | YA BT A 64 cm? §, TE 914 &1 ¥ fPHa= B ¥ ured g2

Ans £01.1738
X 2.1748
X 3.1718
 4.1728

Q26 fe B P! B WS 11p9q4, 24 I U B, At pq F1 sifremaw Jurfad ar= F1a i
Ans " 1.56

X 2.42
X 3.68
X 4.32

O rAfaflT F T "3 AT ST

V1.24 x/2.79
\2.64 x \/5.94

Ans 31

K1

44

a3
21

x 2.

a1

3.
v 66

a3
Gd

x 4.

Q.28 gif 3ieRTel 3R I Weafid TRARATSN ATl TRARAT g2 GRUN &b U § Ugd AT e! b T Y=Y BT Igaieh 48.5 4T | TEAD
1 F} et e 46.5 f; gga® o It aRaRar 34 Ff; 5@ T A S g a9 T feRT B IRARAT 32 2t 3R TIPS T
¥ 31 91¢ a1 I SiaRTa B IRARAT 25 A | IgaP T Pt ASTS (width) FT A2

Ans 0112
X 2.10

o 3.1
X 4.105

Q.29 Rk, Hua 3R aferd A T gATT TsT rH 6050 die UL 3R #IS ff die 3y 7Y uT| FHa F el 3R aferd gRT ure o arel
H 42% 3fU® die yrwd g afe afera 3 STd ¢ Fa dlel A & Had 8% die YT §U, df TR BI U diel St WS J1d Biforg|

Ans & 1.1556
X 2.1668
X 3.1912

o 4.2016

00




Q.30  20%, 35% 3R 10% B FT FUNTT Fel F TRTR THd Fe fba-i gift?
Ans K01.42.3%

X 2.65.4%
& 3.53.2%
X 4.48.7%

Section : Reasoning and General Intelligence

Q.1 w@mmakw%gmaﬁw%mﬁmiﬁma’rﬁw&%qw%Wﬂﬁu%qaﬁ?maﬂmﬁ?ﬁqwﬁw%mﬁﬂ-
IR A T 2/
PYT: HRA A S Pt B fo7-0f-fe Tad) o 38 €, ok 39t owa # i Ft 71 St Fr T8 21
. 3R 5T TRPRT I Eer W 4w Ry 3t & e T A R
II. SARRTPTI TR & TGS BT YUTT $UF B ggail HIodl P g ITRart g1
Ans X 1. %qd A || 94 B
o 2. SHA 1 SR T 1 TR
2 3.1 38R 1l &1 S0 I B

X 4. $dd 3FAF | T B

ixam

=Prepare 50% Faster

Q2 9w Uy 3R 3P 916 & FYF | 3R 1l 2T 7T 1 g B fF S AR $YF U T 3R 31 & o wafe 2rg)
'E o
A, B, C, D, E 3R F U& gaTHR AW & URE: 98 §U T 1 390 A UAS &1 W a1 dl A & g $1 3R T 916X &1 3N (3rufa Fg &t
faudia f=m /) 81 0 fowr e & sfinga &2
DYH:
(1) B, F ¥ 31U go¥ RITF W 937 3 3R 3l F% &1 MR Sifig@ 1 A 3R E & v fpelt o ok A Faa St afr 33 &1 A R E
341 gu fo=m Y ok 3ifinga €1 A, B &1 fdean wsiit et 21
() ¢, B ¥t faudia fe=m & 3ifig@ 81 D, ¢ & 1T GO W TR 93T 8

Ans X 1. FHYT | B UY BT IR & & (0L T § SIaih B Il el 8
X 2. BYT | 3R 11 TR U8 BT IR 21 P forg v B
X 3. BY 11 3PHd U BT IR &1 & 1T v § Siafds HU | Tl g
o 4. BYT | 3R || THABR U9 BT IWR & & forg gafe 21 §




Q3 39 fawey pfa &1 a4 Fiforg, st R faw e o & wy-forg (7) & M W 3R Ge &) guf st

Ans

x1

Q4 T+ 3R B TR TG 1 1Y qT 'x* 3R *+* P R g foan oy, & Frafia aefiwor & yafeg (2) & ®= wan
g
13+4-217x7+4=72

Ans 251,459
o 2.479
3,477
X 4. 467

Q.5 3G HOCKEY & &, WY, Uiwd 3R B (A1¢ |/ M AR UR) 31&RY &7 UGN B3 b= 3rfyuf 3Rish Wsg 941 &1 Tohd &,
o U@ Meg d AT &R BT Had Th IR TN foam 141 §1?

Ans X 1.T
X 2.dF
WERH
X 431




e ud Ffd et & anafd A, smofa B T Tsfia 81 33 e &1 3aRur axd gu, a-xam‘”'
C 3T D Y et T 1 Ue= o1 e FIU 3R 39 1S b1 99 Sy, B D
o [ IR IG[ ST 918U

7 P
VAN o (1] o0 ﬁ F o
Ej (o] \—\7 feli o] [e] ?
/
(A) (B) (C) (D)
& 1.
d
q
|
s, i |

e (:>

d

Q7 I fadweu &1 Tua ST &t R fAw e s} & U arfdhe ok Trde w0 ) e swar g1

1. 71 41T (Shirt piece)
2. YT (Thread)

3. Bfa® (Fabric)

4. 7S (Shirt)

5. PUM (Cotton)

Ans  #1.52,3 1.4
X 2.351,24
X 3.53,1,24




Q8 famedl # § 715 IW rpla B ugEE P, B (7) S WM W T@A W 4@a difbed w0 4 ol g st ixam
— l 4[ J— Prepare 50% Fast
PTS R RPTO||[ORPS|[[SORT ?

| S T P

Ans —

«1.|T § OP
R

X2|T S R P
O

X3 |TORP
S

X4|T S OFP
R

Q.9 Each of the digits in the number 7148356 is arranged in ascending order from left to right. The position of how many digits
will remain unchanged as compared to that in the original number?

Ans & 1. None
" 2.0One
& 3. Three
& 4. Two

Q.10 ﬁuﬁlﬁgﬂgg@@ﬁﬁmﬁq%@ﬁﬁfﬁaﬂ%ﬁmﬁ%aﬁ?wmﬁéwm%lagaﬁq-wgw%,ﬁwﬁ—d’er
39 98 ?

(Fe: TEms I geP P! # faurfora e famrm, qof TRemsit wr & widrdy ifpane &t st @fde) 99 13 - a9 @i 13
R T wfhang SR fF 13 W SsArge AN HAT1 3fe fFar ST aHar 8113 B 1 iR 3 A disHe iR 1 SR 3 W
T wfhang s & ergafa 1t 31)

Ans & 1.15-135
o 2. 11-89
X 3.18-162
X 4.13-117

00




ar wmmwmﬁmﬁwﬁmw%ﬁaﬁqwmwasﬁqﬁaum'xam‘”’
BT

U

O
V
g
A

Ans x 1.

wz.v
X3.0

<+ O

Q12 3eRY F IW HAIGH BT 99 F o SHeRY B &t TS §aen F frad R # wiie €0 F 3@ R 98 aifes 0 3 guf g
il

PR_Y__RA_ZP_A_Z
Ans ¢ 1.AZPYRY
X 2. APYZRY
X 3.APYZZY
X 4.AZYZRY

Q.13 9 A, A, B, C, D, E, F 3R G Tw Wit ufdd # IR 1 oiR AR @ slax S I D P I Faa dH AfRI 95 T ID MR A S
Eﬂaggggq%a%%l B, C & SI¥ Uigd ®ITF W 931 8| G, E ¥ 31 ¢ Afe" A & 918 forft ®iA R 9371 31 ufdd & S RiY
W ?

Ans W 1.A
X206
X 3.E
X 4B

Q.14 R ve Fy fear man g forad a1 1 3R 1l & = A HHifed o GUIfad R T U 7| FuF @) earFyde ufeu ok au #ifvig
fr Y # Q -1 SR HYF A & 78 g1/ Aaa ST $1 TS HdT 8/ &
Y
YRA ¥, 93 e A I & ureftor Rt [ yardt smardt &t i fear 12011 B SFRUMT & SER, YR & O 999 g9
ﬂ%ﬁm‘r(ﬁwﬁ Hag, A%, ST, PIadTar R gerare) & T 48% farft yardt &

|)mﬁﬁawmﬁmaﬁvamﬁmaﬁaﬂmmﬂ?mm@mél
II) U9TH ST gt 2 Fiifs sufekt arar &A1 3R ¢ e’} &) $WHT UdE Hd B
Ans X 1.9 3RS I GUIfdd BRUT B
o 2. Had | GYIfdd BRUT B
X 3. %ad || GyIfad HRT R
X 4.13R 11, SF Yyifad RO g




I 1
Q15 39 W= BT 99 B, Rred Tl & it Sie ag) dey 8, ot way Freafifee ag=m) @) gemnsi & fa ,xam.%
(Fte: TEm3il B IWH v 3P # faurfora fee famm, gof Iemsi w &t wirdta w@fparg @ ot el 9 13 - a0
TR TR Wfane S 6 13 B SigAEe AN AT 31fe frar ST aPar g1 13 #1 1 R 3 A dAisHe iR fhe 1 iR 3 W
T wfhang H1 @Y srgufa T 21)

(5, 5, 25)
(2, 5,10)

Ans X 1.(7,3,14)
o 2.(3.3,9)
% 3.(9, 3, 26)
X 4.(4, 4,20)

Q.16  fgifed g srpfaal & & TR srpfaai v ifda 8% @ 9 § 3R 39 PR T T9E T1d! € | 98 SH-0 3o 8, St 39
T | Yot et 82

J| &

(A) (B) ©) (D) (E)
Ans K 1.C
X 2.A
< 3D
« 4.B

Q17 Uh $YT P d1¢ IR wpt 3T MY &1 3T T Y9 & YR W H-T19 s 9 2782
DY:
I<M<FsDsS=J
ﬁﬁﬁ:
)S<M
NF=8
mis>J
IV) M <D

Ans X 1.y | SR I TT B
X 2. frsmd v 3R 11 9T
X 3. Pad ey || TR

o 4. HIq THY IV TI ¢

Q.18 fau U HyAY 3R Al & AFYd® U | MuH! AT T YA 1 T AT 7, YA g 3 JHga: 1 a) | e wedla 819 gt
TUP! T T BT ¢ 1% P-A1 frepd 2T e syt &1 aifbe 0 A SuRor Har1 8/ Hd 7

DY

P ooy, frad g
ot fpare, s 81
PO IR, THI &
s

(I) : $° 999, HH B
() : $° frae, Fau g

Ans X 1. T FISHY (1) SRR FHRAT & IR A 8 (1) SFTIR0T Bl g
o 2. HId B (11) SR FHRaT B
2 3. fsme (1) 3R (11) QY STERT AR &
X 4. Faq Fsme (1) SR FRaT B




Q.19

Ans

uw fAf¥a e o §, 'CARD' ®Y '7359' & FU | Hed fohUT WAl 8, 'SERV' Y '1256' & U H Bedws frar wrar g 3k
B '8497' & U H Feds: fbar wirar g1 & 1§ Fe Ut A ‘D' F T He w2

1.3
X 2.7
X 3.9
X 4.5

Q.20

Ans

% Af¥d e YT §, 'BUTTER' ® 'CWWSCO' & ¥ B fedes forar WTaTl € 3R "THEORY' &1 'UJHNPV' & &0 § Feas fhar
STET 8 1 39 UTT § 'LATENT' &) fh Wb Peaw farar smem?

X 1. MEVCKR
X 2. MDXCLQ
X 3. MCWDMP
& 4. MCWDLQ

Q.21

Ans

gl '+ SR '— B IR I5a faam oImg a1 'x 3R '+ Pl WER ged f&ar 9, dt Frafafaa awfiexo d yyig (7) $ RE w0

STTT?
163+3+147x7-1=2

o 1.469
X 2.479
X 3.459
X 4.489

Q.22

Ans

T UY W TH U & q1¢ (1) 3R () T H pHifdpd < Y AT T §1 3! g 99 H1 ¢ 1 Fy=1 A & 7 SHerR) uy &1
IW 31 & fore yai 3 a1 =81 a1 Syl @) ufe ik Suged 3w &1 fAvfy #ifv|
wy: fF=IR &1 gorar | 1 Jay 82
(1) 7o, fPeiR &Y i @1 faeitan, frsik 1 uelt 21
(1) 3\, o T HTS & | GITdT, 3A- B gHatal T 21

2 1. (1) 3rhar yafe §, Sad (11) Sidha o -gi g

2K 2. 91 (1) a1 (1) bl g g1

o 3. (1) 3R (Il) ST U F1Y I & |

2 4. (I1) a1 yaTe g, STaidp (1) e i -gi g

Q.23

Ans

Select the option that is related to the third word in the same way as the second word is related to the first word.

(The words must be considered as meaningful English words and must not be related to each other based on the number of
letters/number of consonants/vowels in the word.)

Crowd : Dense : : Slope : ?

<5 1. Plain
< 2. Tight
" 3. Steep
< 4. Fill

Q.24

Ans

mmwﬁﬁmmwwaﬁﬁwmﬁsﬁ?mﬂwwmmm%aﬁﬂ-mmawww
(Wﬁmﬁﬁ/mwaawﬁmmaﬁq&ﬁvwﬁu&ﬁaﬁmmﬁmﬁaﬁmawnmwm@ﬁ
TGP e\ a1 ST e )

2 1. T AT (Travel) : TR BT (Tour)

< 2. QHT (Carry) : S&T (Lift)

X 3. 3adAH (Look) : GTT (See)

" 4. U (Close) : X (Distant)




Q.25

Ans

M+ 3R "~ ) TR TG T SITY AU 'x* 3R "+ B WER dqa foan o, @ Frafaf@a afteo § wafas (?)#Wﬁixam'l%i,l

S{TEIT?
161+4+75%x5-4=7

& 1.633
< 2.643

X 3.543
X 4.533

=Prepare 50% Faster

Q.26

Ans

&Rt & 3T TS BT 79 BT, o & 715 e & fraa wiel # wiie 0 @ 7@ W e 38t 8 st

A_DF GI_L MOP_ _UVX YA_D
< 1.BJQRB

< 2. BJRSB
o 3. CJRSB
2 4.CJQRB

Q.27

Ans

fFrafafaa aiezo & uylRg (7) & M W 31 91 99 (ST ) 391 32

49.85-531+9.97="?
x 1.6
% 2.19
X 3.37
& 4.55

Q.28

Ans

e Ufea # fAfda T & afer Sw o1 iR siftmga
BIOMPATTHR VAR ISIZIOMN I TTAMISTEI M 3R P F diT & N 9371 21 afe Ui A FIS o=y A T8 931 8,

a1 33 ¢ afFadl 3t pa G fbat 82
X 1.1

x 2.8

X 3.9

& 4.10

BIPT IS EIN, P 91¢ Y RIM W IST 21 M, N P I1¢ IR I W) 937

Q.29 & 73 e # uy-fag (?) F R W FIT AT ART?

18, 74, 298, 1194, 4778, ?

Ans X 1.19116

o 2.19114

2 3.19110

X 4.19112
Q30 QRBIATEIP,QBTUREIS, RPTHIS &l PHTS A T HIY 82
Ans 25 1. 9ret

X2q
o 3. U
X 4.

Section : English Language and Comprehension

Q1

Ans

Select the option that rectifies the underlined part of the given sentence. In case no correction is needed, select ‘No

correction required’.

Cinema provides the most universal entertainment.

" 1. a universal
5 2. more universal
#5 3. an universal

5 4. No correction required

. V23
|xam‘0

=Prepare 50% Faster
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Q.2 The given sentence has an error which has been underlined. The underlined word is given as options with some cha. ‘“6
. i ixam
Select the option that rectifies the error.
She vaccillates a lot while making any decision. Prepare 0 aste

Ans & 1. vacillattes
< 2. vasillates
< 3. vacilates

" 4. vacillates

Q.3 Select the option that will improve the underlined part of the following sentence.

He is taller and most handsome than his friend.

Ans X 1.very more
¥ 2. more
/< 3. the more
X 4. the most

Q.4 The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error
from the given options. If you don’t find any error, mark ‘No error’ as your answer.
They want to live in first floor of this building.

Ans «" 1. live in first floor
5 2. No error
#< 3. of this building
25 4. They want to

Q.5 Select the option that can be used as a one-word substitute for the underlined part of the given sentence.
There is a place for grains in the backyard of this house.

Ans < 1. dormitory

< 2. apiary
5 3. archive

«" 4. granary

Q.6 Select the most appropriate idiom to fill in the blank.
Despite their differences, the two politicians decided to and work together for the greater good.

Ans #< 1. burn the midnight oil
< 2. bark up the wrong tree
" 3. bury the hatchet
< 4. blow off steam

Q.7 Select the sentence which gives the most appropriate meaning of the given idiom.

Bite the bullet
Ans #5 1. The children played in the park on a sunny day.
#5 2. The chef prepared a delicious meal for the guests.
" 3. Despite the pain, Sarah decided to go ahead with the surgery.
/< 4. Jack and Jill went up the hill to fetch a pail of water.

Q.8 Select the most appropriate option to fill in the blank.
Robin watched as the smoke steadily from the chimney.

Ans X 1. left
" 2. rose
< 3. went

/< 4. hung

. V23
|xam'0

~Prepare 50% Faster
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. V24
|xam‘0

Q.9 Select the option that expresses the following sentence in active voice.
By whom were you taught English grammar and composition? Frepares0R et
Ans 5 1. Who has taught you English grammar and composition?
«" 2. Who taught you English grammar and composition?
% 3. Who had taught you English grammar and composition?
#< 4. Whom taught you English grammar and composition?
Q.10 Select the option that expresses the given sentence in active voice.
The award was presented to her by the director.
Ans /< 1. She presented the award to the director.
" 2. The director presented the award to her.
/< 3. The award presented to her by the director.
/< 4. She was presenting the award to the director.
Q.11 Parts of the following sentence have been given as options. Select the option that contains an error.
Everyone should respect those parents, teachers, and elders.
Ans X 1.and elders.
«" 2. respect those
/& 3. parents, teachers,
/< 4. Everyone should
Q.12 Select the option that expresses the given sentence in indirect speech.
He said, “Two and two make four.”
Ans /& 1. He says that two and two made four.
/< 2. He said that two and two made four.
" 3. He said that two and two make four.
/5 4. He says that two and two make four.
Q.13 Select the option that rectifies the underlined part of the given sentence. In case no correction is needed, select ‘No
correction required’.
Ashoka was not only a great warrior but also a very wiser ruler.
Ans < 1. more wise
o 2. wise
< 3. No correction required
/< 4. wisest
Q.14 Select the most appropriate option to fill in the blank.
By this time tomorrow, | the work assigned to me.
Ans  2X 1.will do
/5 2. will be done
/< 3. will have did
«" 4. will have done
Q.15 Select the option that can be used as a one-word substitute for the underlined phrase in the following sentence.
She was known for her ability to communicate effectively and express herself clearly in writing_and speaking.
Ans " 1. articulation

/5 2. mumbling
/5 3. incoherence

/5 4. rambling
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Q.16 Select the most appropriate option to fill in the blank. ixam'vﬁ
The girl was as she was drenched in the rain.

. =Prepare 50% Faster
Ans & 1. bolt
" 2. cold
& 3. gold

X 4. tight

Q.17 Parts of the following sentence have been given as options. Select the option that contains an error.
The speaker’s emphasiss is on the present-day problems that are being faced by ordinary men of India.

Ans & 1. by ordinary men of India
& 2. that are being faced
/& 3. on the present-day problems

«” 4. The speaker’s emphasiss is

Q.18 The following sentence has been split into four segments. Identify the segment that contains a grammatical error.

We / has seen / that movie / before.
Ans 5 1. before

& 2. We
5 3. that movie
«" 4. has seen

Q.19 Select the option that arranges the given words to form a grammatically correct and meaningful sentence.
The students eagerly their awaited results.

Ans #5 1. Eagerly awaited the students their results.
5 2. The awaited eagerly results their students.
" 3. The students eagerly awaited their results.

5 4. The students their eagerly awaited results.

Q.20 Parts of the following sentence have been given as options. Select the option that contains an error.

This is the book whom | wanted to buy.
Ans X 1.the book

« 2. whom |
/5 3. wanted to buy.
& 4. Thisis

Q.21 Read the given sentence carefully and fill in the blank by selecting the correct synonym of the word given in the brackets.
The authority refused to pay any heed to the demands made by the workers. (Trivial)

Ans X 1. conceited
" 2. insignificant
/& 3. majestic
& 4. idiotic

Q.22 Select the option that expresses the given sentence in passive voice.

Access denied.
Ans < 1. Let it be known that access will be denied.

% 2. Access is being denied.
< 3. Access has been denied.

" 4. Let the access be denied.
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Q.23 Select the most appropriate option in direct speech. ixam'v&

Ans #5 1. The principal say me, “You are in-charge of the admission cell.” repare 50% Faste
£5 2. The principal said me, You are in-charge of the admission cell.
#5 3. The principal said to I, “You are in-charge of the admission cell.”

& 4. The principal said to me, “You are in-charge of the admission cell.”

Q.24 Select the most appropriate phrasal verb to fill in the blank. .

that thought. It will be a great idea someday.
Ans & 1.Hold on

& 2.Hold to
" 3. Hold onto
/& 4. Hold against

Q.25 Select the most appropriate option to fill in the blank.
You use an to steer a boat.

Ans «" 1. o0ar
X 2. 0r
X 3. ore
X 4. are

Q.26 Select the most appropriate option in the superlative degree that can substitute the underlined segment in the given
sentence.

This is the challenge task | have ever encountered.

Ans /< 1. more challenging
5 2. much challenging
25 3. challenging

«" 4. most challenging

Q.27 Select the option that expresses the given sentence in indirect speech.
He said, “l bought this book for my brother.”

Ans /1. He said that he buy this book for his brother.
" 2. He said that he had bought that book for his brother.
/5 3. He said that he bought this book for his brother.
/< 4. He said that he has bought this book for his brother.

Q.28 The given sentence has an error. Choose the option that corrects the error
Throw a rounder stone to create ripples in the water.

Ans < 1. Throw a more rounder stone to create ripples in the water.
" 2. Throw a round stone to create ripples in the water.
< 3. Throw the roundest stone to create ripples in the water.

/< 4. Throw a more round stone to create ripples in the water.

Q.29 The following sentence has been divided into four parts. One of them contains an error. Select the part that contains the
error from the given options. .

They were / married happily / before she / quit her job.
ABCD

Ans KA
X 2D
X 3.cC
 4.B
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Comprehension:

ixam
In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option ... ..
each blank.
The ongoing fight for social justice and equality continues to be a significant global 1. . Movements advocating for
racial, gender and LGBTQ+ equality, as well as addressing systemic discrimination and injustice, have 2. momentum
in recent years. People are increasingly recognising the importance of dismantling structures that 3. inequality
and fostering inclusivity in all aspects of society. Calls for justice, representation and equal opportunities have sparked conversations
and initiatives aimed at creating a more equitable world. It is crucial to 4. in meaningful dialogue, challenge biases and

actively promote diversity and to build a society where everyone has equal rights and opportunities.

SubQuestion No : 30
Q.30 Select the most appropriate option to fill in blank no. 1.
Ans X 1. drift

" 2. focus
/& 3. divergence
& 4. dispersion

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank.

The ongoing fight for social justice and equality continues to be a significant global 1. . Movements advocating for
racial, gender and LGBTQ+ equality, as well as addressing systemic discrimination and injustice, have 2. momentum
in recent years. People are increasingly recognising the importance of dismantling structures that 3. inequality
and fostering inclusivity in all aspects of society. Calls for justice, representation and equal opportunities have sparked conversations
and initiatives aimed at creating a more equitable world. It is crucial to 4. in meaningful dialogue, challenge biases and
actively promote diversity and to build a society where everyone has equal rights and opportunities.

SubQuestion No : 31
Q.31 Select the most appropriate option to fill in blank no. 2.
Ans " 1. gained

/5 2. provided
/< 3. scattered
/5 4. invoked

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank.

The ongoing fight for social justice and equality continues to be a significant global 1. . Movements advocating for
racial, gender and LGBTQ+ equality, as well as addressing systemic discrimination and injustice, have 2. momentum
in recent years. People are increasingly recognising the importance of dismantling structures that 3. inequality
and fostering inclusivity in all aspects of society. Calls for justice, representation and equal opportunities have sparked conversations
and initiatives aimed at creating a more equitable world. It is crucial to 4. in meaningful dialogue, challenge biases and
actively promote diversity and to build a society where everyone has equal rights and opportunities.

SubQuestion No : 32
Q.32 Select the most appropriate option to fill in blank no. 3.
Ans X 1.refract

/5 2. cease
¥ 3. perpetuate
/5 4. terminate
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Comprehension: ixam
In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option ... ..
each blank.

The ongoing fight for social justice and equality continues to be a significant global 1. . Movements advocating for
racial, gender and LGBTQ+ equality, as well as addressing systemic discrimination and injustice, have 2. momentum
in recent years. People are increasingly recognising the importance of dismantling structures that 3. inequality
and fostering inclusivity in all aspects of society. Calls for justice, representation and equal opportunities have sparked conversations
and initiatives aimed at creating a more equitable world. It is crucial to 4. in meaningful dialogue, challenge biases and
actively promote diversity and to build a society where everyone has equal rights and opportunities.

SubQuestion No : 33
Q.33 Select the most appropriate option to fill in blank no. 4.
Ans «" 1. engage

& 2. coincide
& 3. evolve
X 4. manifest

Comprehension:

Read the given passage and answer the question that follows.

Steel is tough, and it can easily be shaped, cut or made into wire. Special alloys of steel can be made by adding small amounts of
other metals such as aluminium, nickel and copper. Alloys give steel unusual hardness, toughness or ability to resist rust. Steel is
often called the backbone of modern industry. Aimost everything we use is either made of iron or steel or has been made with tools
and machinery of these metals. Ships, trains, trucks and autos are made largely of steel. Even the safety pins and the needles you
use are made from steel. Oil wells are drilled with steel machinery. Steel pipelines transport oil. Minerals are mined with steel
equipment. Farm machines are mostly steel. Large buildings have steel framework.

SubQuestion No : 34
Q.34 Why is steel often called the backbone of modern industry?
Ans < 1. Steel is tough.

#< 2. Steel can be added with any material.
25 3. Itis easy to make steel alloys.

" 4. Steel is used in almost every tool and machinery.

Comprehension:

Read the given passage and answer the question that follows.
Steel is tough, and it can easily be shaped, cut or made into wire. Special alloys of steel can be made by adding small amounts of
other metals such as aluminium, nickel and copper. Alloys give steel unusual hardness, toughness or ability to resist rust. Steel is
often called the backbone of modern industry. AlImost everything we use is either made of iron or steel or has been made with tools
and machinery of these metals. Ships, trains, trucks and autos are made largely of steel. Even the safety pins and the needles you
use are made from steel. Oil wells are drilled with steel machinery. Steel pipelines transport oil. Minerals are mined with steel
equipment. Farm machines are mostly steel. Large buildings have steel framework.
SubQuestion No : 35

Q.35 What is the tone of the passage?

Ans «" 1. Informative
< 2. Ironical
/5 3. Judgemental
/5 4. Critical

Comprehension:

Read the given passage and answer the question that follows.

Steel is tough, and it can easily be shaped, cut or made into wire. Special alloys of steel can be made by adding small amounts of
other metals such as aluminium, nickel and copper. Alloys give steel unusual hardness, toughness or ability to resist rust. Steel is
often called the backbone of modern industry. Aimost everything we use is either made of iron or steel or has been made with tools
and machinery of these metals. Ships, trains, trucks and autos are made largely of steel. Even the safety pins and the needles you
use are made from steel. Oil wells are drilled with steel machinery. Steel pipelines transport oil. Minerals are mined with steel
equipment. Farm machines are mostly steel. Large buildings have steel framework.

SubQuestion No : 36
Q.36 Select an appropriate title for the passage from the given options.
Ans < 1. Mineral ores

< 2. Manufacturing

" 3. Steel Industry
2}
5 4. Resources of Steel |xam'0
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Comprehension: . VA
ixam

Read the given passage and answer the question that follows. orepare 50% Faste
Steel is tough, and it can easily be shaped, cut or made into wire. Special alloys of steel can be made by adding small amounts of
other metals such as aluminium, nickel and copper. Alloys give steel unusual hardness, toughness or ability to resist rust. Steel is
often called the backbone of modern industry. Aimost everything we use is either made of iron or steel or has been made with tools
and machinery of these metals. Ships, trains, trucks and autos are made largely of steel. Even the safety pins and the needles you
use are made from steel. Oil wells are drilled with steel machinery. Steel pipelines transport oil. Minerals are mined with steel
equipment. Farm machines are mostly steel. Large buildings have steel framework.
SubQuestion No : 37

Q.37 Identify the structure of the passage.

Ans 5 1. Sequential
5 2. Cause and effect
#< 3. Classification
" 4. Descriptive

Comprehension:

Read the given passage carefully and answer the question that follows.

The discovery of a new bird species has sparked excitement among ornithologists and bird enthusiasts worldwide. The bird, named
the Sapphire-winged Warbler, discovered in a remote tropical island's rainforests, is a unique bird with vibrant blue feathers and a
distinctive melodic song. Birdwatchers and nature enthusiasts have been flocking to the island in hopes of catching a glimpse of this
elusive and captivating creature. The discovery of the Sapphire-winged Warbler highlights the importance of preserving and protecting
habitats. Amidst the excitement surrounding the discovery of the Sapphire-winged Warbler, researchers have embarked on a mission
to uncover the bird's migratory patterns. Equipped with satellite tracking devices, they aim to trace the remarkable journey of this
species across vast distances. By unravelling its migratory routes and stopover locations, scientists hope to gain insight into the
challenges the Sapphire-winged Warbler faces during its arduous travels. The local community on the tropical island has embraced
the newfound avian resident with great enthusiasm. Efforts are underway to raise awareness about the importance of conservation
and to create protected areas that ensure the continued existence of this exquisite species.

SubQuestion No : 38
Q.38 Based on the given passage, which of the following inferences can be made?

Ans /5 1. Conservation efforts are solely focused on protecting the Sapphire-winged Warbler.
" 2. The discovery of the Sapphire-winged Warbler has sparked global interest in birdwatching.
/5 3. The Sapphire-winged Warbler is an aggressive and territorial bird species.

/5 4. The scientific community has lost interest in studying avian species.

Comprehension:

Read the given passage carefully and answer the question that follows.

The discovery of a new bird species has sparked excitement among ornithologists and bird enthusiasts worldwide. The bird, named
the Sapphire-winged Warbler, discovered in a remote tropical island's rainforests, is a unique bird with vibrant blue feathers and a
distinctive melodic song. Birdwatchers and nature enthusiasts have been flocking to the island in hopes of catching a glimpse of this
elusive and captivating creature. The discovery of the Sapphire-winged Warbler highlights the importance of preserving and protecting
habitats. Amidst the excitement surrounding the discovery of the Sapphire-winged Warbler, researchers have embarked on a mission
to uncover the bird's migratory patterns. Equipped with satellite tracking devices, they aim to trace the remarkable journey of this
species across vast distances. By unravelling its migratory routes and stopover locations, scientists hope to gain insight into the
challenges the Sapphire-winged Warbler faces during its arduous travels. The local community on the tropical island has embraced
the newfound avian resident with great enthusiasm. Efforts are underway to raise awareness about the importance of conservation
and to create protected areas that ensure the continued existence of this exquisite species.

SubQuestion No : 39
Q.39 Select the most appropriate title for the given passage.
Ans /< 1. The Curious Behaviour of Birds in Remote Islands

/< 2. Conservation Efforts in Tropical Rainforests
" 3. The Migratory Journey of the Sapphire-winged Warbler
/5 4. The Unique Features of the Sapphire-winged Warbler
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Comprehension: . VA
ixam

Read the given passage carefully and answer the question that follows. orepare 50% Faste
The discovery of a new bird species has sparked excitement among ornithologists and bird enthusiasts worldwide. The bird, named
the Sapphire-winged Warbler, discovered in a remote tropical island's rainforests, is a unique bird with vibrant blue feathers and a
distinctive melodic song. Birdwatchers and nature enthusiasts have been flocking to the island in hopes of catching a glimpse of this
elusive and captivating creature. The discovery of the Sapphire-winged Warbler highlights the importance of preserving and protecting
habitats. Amidst the excitement surrounding the discovery of the Sapphire-winged Warbler, researchers have embarked on a mission
to uncover the bird's migratory patterns. Equipped with satellite tracking devices, they aim to trace the remarkable journey of this
species across vast distances. By unravelling its migratory routes and stopover locations, scientists hope to gain insight into the
challenges the Sapphire-winged Warbler faces during its arduous travels. The local community on the tropical island has embraced
the newfound avian resident with great enthusiasm. Efforts are underway to raise awareness about the importance of conservation
and to create protected areas that ensure the continued existence of this exquisite species.

SubQuestion No : 40
Q.40 Which statement best reflects a fact mentioned in the given passage?
Ans % 1. The Sapphire-winged Warbler is the only bird species on the tropical island.

5 2. The Sapphire-winged Warbler is the largest bird species in the avian kingdom.
«" 3. Researchers are using satellite tracking devices to study the bird's migratory patterns.

#< 4. Schools on the island organise annual bird-watching competitions.

Comprehension:

Read the given passage carefully and answer the question that follows.

The discovery of a new bird species has sparked excitement among ornithologists and bird enthusiasts worldwide. The bird, named
the Sapphire-winged Warbler, discovered in a remote tropical island's rainforests, is a unique bird with vibrant blue feathers and a
distinctive melodic song. Birdwatchers and nature enthusiasts have been flocking to the island in hopes of catching a glimpse of this
elusive and captivating creature. The discovery of the Sapphire-winged Warbler highlights the importance of preserving and protecting
habitats. Amidst the excitement surrounding the discovery of the Sapphire-winged Warbler, researchers have embarked on a mission
to uncover the bird's migratory patterns. Equipped with satellite tracking devices, they aim to trace the remarkable journey of this
species across vast distances. By unravelling its migratory routes and stopover locations, scientists hope to gain insight into the
challenges the Sapphire-winged Warbler faces during its arduous travels. The local community on the tropical island has embraced
the newfound avian resident with great enthusiasm. Efforts are underway to raise awareness about the importance of conservation
and to create protected areas that ensure the continued existence of this exquisite species.

SubQuestion No : 41
Q.41 Identify the most appropriate ANTONYM of the word ‘stare’ from the passage.
Ans «" 1. Glimpse

/< 2. Excitement
< 3. Arduousness
< 4. Vibrancy

Comprehension:
Read the given passage and answer the question that follows.
On woody plants known as vines, luscious, smooth-skinned berries called grapes grow in dense clusters. In particular, grapes are
grown in France, ltaly, Spain, Australia, Chile, Romania, Georgia, South Africa and California, all of which have warm summers and
moderate winters. Table grapes are larger and sweeter grapes that are intended for fresh consumption. To create wine, 80% of the
grapes are crushed. The fermentation process turns grapes into wine. To make raisins, grapes must also be dried.
Grapes ripen in the area of California in August. They are cut from the vines and left on trays to dry for two to three weeks. So, to
transform them into raisins, they are further cooked and steeped in particular treatments. According to studies, one acre of grapes can
make roughly 15,000 glasses of wine on average. Grapes of the Thompson, Flame, Ruby, Perlette and Tokay varieties are popular.
SubQuestion No : 42

Q.42 Select the most appropriate title for the passage.

Ans 2 1. Wine making
/5 2. Varieties of grapes
" 3. Grapes and its uses
/5 4. Grapes and world
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Comprehension: . 2
ixam

Read the given passage and answer the question that follows. Prepare 50% Faster

On woody plants known as vines, luscious, smooth-skinned berries called grapes grow in dense clusters. In particular, grapes are
grown in France, Italy, Spain, Australia, Chile, Romania, Georgia, South Africa and California, all of which have warm summers and
moderate winters. Table grapes are larger and sweeter grapes that are intended for fresh consumption. To create wine, 80% of the
grapes are crushed. The fermentation process turns grapes into wine. To make raisins, grapes must also be dried.

Grapes ripen in the area of California in August. They are cut from the vines and left on trays to dry for two to three weeks. So, to
transform them into raisins, they are further cooked and steeped in particular treatments. According to studies, one acre of grapes can
make roughly 15,000 glasses of wine on average. Grapes of the Thompson, Flame, Ruby, Perlette and Tokay varieties are popular.

SubQuestion No : 43
Q.43 In which region do grapes ripen in August?
Ans #< 1. Chile

" 2. California
5 3. France
5 4. Australia

Comprehension:
Read the given passage and answer the question that follows.
On woody plants known as vines, luscious, smooth-skinned berries called grapes grow in dense clusters. In particular, grapes are
grown in France, ltaly, Spain, Australia, Chile, Romania, Georgia, South Africa and California, all of which have warm summers and
moderate winters. Table grapes are larger and sweeter grapes that are intended for fresh consumption. To create wine, 80% of the
grapes are crushed. The fermentation process turns grapes into wine. To make raisins, grapes must also be dried.
Grapes ripen in the area of California in August. They are cut from the vines and left on trays to dry for two to three weeks. So, to
transform them into raisins, they are further cooked and steeped in particular treatments. According to studies, one acre of grapes can
make roughly 15,000 glasses of wine on average. Grapes of the Thompson, Flame, Ruby, Perlette and Tokay varieties are popular.
SubQuestion No : 44

Q.44 Based on your reading of the passage, select the most appropriate word which best describes ‘luscious’.

Ans X 1. Llarge
W 2. Juicy
45 3. Smooth
45 4. Soft

Comprehension:

Read the given passage and answer the question that follows.

On woody plants known as vines, luscious, smooth-skinned berries called grapes grow in dense clusters. In particular, grapes are
grown in France, ltaly, Spain, Australia, Chile, Romania, Georgia, South Africa and California, all of which have warm summers and
moderate winters. Table grapes are larger and sweeter grapes that are intended for fresh consumption. To create wine, 80% of the
grapes are crushed. The fermentation process turns grapes into wine. To make raisins, grapes must also be dried.

Grapes ripen in the area of California in August. They are cut from the vines and left on trays to dry for two to three weeks. So, to
transform them into raisins, they are further cooked and steeped in particular treatments. According to studies, one acre of grapes can
make roughly 15,000 glasses of wine on average. Grapes of the Thompson, Flame, Ruby, Perlette and Tokay varieties are popular.

SubQuestion No : 45
Q.45 What does the fermentation process do?
Ans & 1. Turns grapes into raisins

" 2. Turns grapes into wine
/& 3. Makes grapes larger
/X 4. Crushes the grapes
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T 36d TAT W 2022 F wefE W | F TeF ArreeT F o e #
T Il F Tt F e e #Y Ak A R e a3 @@ 3w =

= | () &)

A U drferssT H | T (i) FERTSE

B 9g= atferest & |l Tamr (i) gh=mom

C U difershT H Il T (jii) FaAEsH

D uee alfererr # IV B (iv) a8 T9EH &ugle a2
Ans " 1. A-iv, B-i, C-ii, D-iii

K 2. A-i, B-iii, C-ii, D-iv

K 3. A-i, B-ii, C-iii, D-iv

K 4. A-ii, B-i, C-iii, D-iv

Q.18  FAU IS FH & YR W, IA A I8 AfUYRon 1 718 8 fF gt S sgmfaemg 21
Ans X 1. YT 65,00,000 T

2 2. T 95,00,00, 00 T

& 3. TIHT 4,50,00,00,000 T8

7 4. T 45,00,000 TH

Q19 YRGB THIUFT 2011 & AFAR, Fafrf@a & A fra wva o goul ok afgensit #t werar R # siar Taifis ur?
Ans o 1. SR

X 2. o™

< 3. TRy

X 4.9

Q.20 Which of the following is a possible criticism of privatisation?

Ans £ 1. Expansion of bureaucracy and efficiency in public enterprises
" 2. Limited access to essential services for marginalised populations
#< 3. Reduced competition and innovation in the market

#< 4. Excessive government interference into private businesses
2}
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Prepare 50% Faster




Q21 fydeR 2022 & faemauT A A Rurae! & fore gram, ey, TWwsdr 3R e 99 aftar gl wdlem &
Siferfyad fam 3t sgawm 1|

Ans 1. IR
7 2. U919
X 3. 9 U
o 4. IR U

[ |
. /)
|xam‘0

Prepare 50% Faster

Q.22 Among the following diseases, which one is NOT inherited?
Ans «" 1. Malaria

5 2. Muscular dystrophy
#5 3. Cystic fibrosis

#< 4. Down syndrome

2 gl @R gl = e s
-l () - (EET Fa)
A. Frafes 3FeT 1. TG T e
B. AT 3FeT 2. TG

C. gfefls 37 3. TEr arex

TRIUS T 4 FIFae Fesr
a2 VA BgeC D
'3 4 2 1
A B C D
K24 2 3
A B C D
I
A B C
A

Q.24 YRa & fafewr Ma-R-oRal 3R ITH Taftra g3l & e & ed gl &1 999 Fifm|

i) g SRS - 1857 =T fagE

ii) WS 3Thels - FUAH HHIM I

iii) &S Hfeer - g7 BT 1854
Ans X 1.%dd (i)

X 2. Had (i) 3R (i)

o 3. Had (i) 3R (i)

X 4. %ad (i)
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Q.25 25°C F AT WR US TSR I & forw wHanms (s1) 3o1E & ufar 3rvy 3ia wifarst ot @ gift? ixam

Ans . 1.617x1077" Y Prepare 0% Faster
X 2.717x10720y
2 3.9.17x 10722
X 4.817x10722

Section : Computer Knowledge Module

Q1 In File Explorer of Windows 10, the keyboard shortcut ‘Num Lock + Asterisk sign (*) isusedto
Ans X 1. collapse the selected folder

X 2. open the properties dialog box for the selected item

« 3. display all subfolders under the selected folder

X 4. display the contents of the selected folder

Q2 T computer registers, MAR stands for

Ans 1. Memory Address Register
X 2. Main Address Register
X 3. Main Access Register

X 4. Memory Access Register

Q3 What is the primary purpose of RAM (Random Access Memory) in a computer?
Ans X 1. Managing peripheral devices

2 2. Storing permanent data and files

« 3. Providing temporary storage for data that the CPU is currently processing

X 4. Providing long-term storage for programs

Q4 In Microsoft Word, what is the purpose of the ‘Print Preview’ feature?
Ans X 1. To insert images and graphics into the document.

X 2. To format the font and style of the document.

« 3. To view how the document will appear when printed.

X 4. To check the spelling and grammar of the document.

Q.5 Which networking device operates at Layer 2 of the OSI model and forwards data based on MAC addresses?
Ans X 1. Firewall

X 2. Hub

« 3. Switch

X 4. Router




Q6 In File Explorer of Windows 11, which of the following tabs includes the ‘hidden items’ oj ixam‘lvé
Ans X 1. File
X 2. Home
¥ 3. View
A 4. Share

Q7 What is a ‘Trojan’ in the context of network security?

Ans X 1. A protocol used for secure communication between devices on a network.
X 2. A program that monitors network traffic for security breaches.
X 3. Atype of firewall that protects against viruses and malware.

« 4. Malicious software disguised as legitimate software to gain unauthorised access.

Q.8 A high speed memory is placed between the Central Processing Unit (CPU) and the primary memory known as
memory.

Ans X 1. virtual
X 2. secondary
X 3. read only

« 4. cache

Q9 Which of the following is an example of the input device in a computer?

Ans X 1. Printer
" 2. Touchscreen
X 3. Speaker

X 4. Monitor

Q10 YWhich of the following is NOT an example of web browser?

Ans 1. Facebook
X 2. Apple Safari

X 3. Opera
X 4. Google Chrome

Q1 1y MS-Excel 2019, what does the SUM function do?
Ans X 1. It multiplies the values in a range.

« 2. It adds up the values in a range.

# 3. It counts the number of cells in a range.

X 4. It finds the average of values in a range.




Q12 wwhat is a cell in Microsoft Excel? ixam

Ans 1. The intersection of a row and a column in a worksheet.

X 2. A single worksheet within a workbook.
X 3. A small diagram or chart.

X 4. A separate file used to store data.

Q13 In MS Office 365, the Page Setup dialog box can be found under which of the following tabs?
Ans X1 Home

X 2. Insert

X 3. Draw

« 4. Layout

Q1 FiF-ar I3 Ry Rrew 73T 7w 3R IFHT W T F GRS G0 TaT T g, Al
g8 T T ofell AT (restoration) SfEhar @ amaeTedT g Heand 87

Ans X1 DVD-RW 2w
X 2. gifoE-Tee 3rET (SSD)
X 3. FAgge-3e=E TR (NAS)

v 4 T ZET
Q15 What is the function of the cache memory in a computer's memory hierarchy?
Ans X 1. To control the flow of data between the CPU and memory.

+ 2. To store frequently used data for faster access by the CPU.

X 3. To provide permanent storage for data and files.

X 4. To manage the allocation of memory resources to different programs.
Q.16

What is the keyboard shortcut for *Copy’ in most Windows applications?
Ans s Ctrl+C

X2 Ctrl+V

X3 Ctrl +X

X4 cl+Z
Q17 Which of the following is an example of GUI-based user agent in email?
Ans X 1. Flm

< 2. Pine
« 3. Netscape
X 4. Mail

00




Q18 YWhen the sender and receiver of an email are on the same system, we need only _ user Eixam‘lvé
Ans X1 six
¥ 2. two
< 3. three
< 4. four
Q19 YWhat is a ‘Firewall® in the context of network security?
Ans X 1. A hardware device used to boost network performance.
« 2. A security mechanism that filters and controls network traffic.
X 3. Atype of malware that spreads through email attachments.
X 4. A software application for managing files and folders.
Q20  A/An s anorganisation that connects its subscriber’s computer using modem to the Internet.
Ans

X 1. Uniform Resource Locator
+ 2. Internet Service Provider
X 3. Web Browser

#< 4. Web Server






